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series { start = 2010.1
span =(2010.1,2017.12)
decimals = 1}
transform { function = log }
arima{model=(012)(011)}
regression { variables = (td1nolpyear Ipyear) — 7o ZEERIEMDIEEIL regression D{ 1 NEHIEE
save = (td hol)
user = (jap—hol)
usertype = holiday
start = 2010.1
file = “xoxx00000000000000x |
forecast { maxlead = 12}
estimate { save = (mdl )
maxiter = 500 }
x11 { print = (none + d10 + d11 + d16)
save = (d10 d11 d16)

seasonalma=x11default }
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TC: temporary change

LS: level shift
AO: additive outlier
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regression { variables = (td1nolpyear Ipyear tc2011.3)

(5) BEEBEHDFNZDNT
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18 | 28 | 8A | 48 | 5A | eA | 7B | 8A | 98 | 108 | 118 | 128
2010% 0.125| 025 0125 0.125 0375 0 0| -025| 0.125 ol o025 0.125
s | -0875| 025 0125 0.125) 0375 0 o -025| 0.125 ol o025 0.125
20126 0.125| -075| 0.125 0.125| -0.625 0 0| -025| -0875 o -075| 0.125
2013 0.125| 025 0125 0.125| -0.625 0 o -025| 0.125 o -075| 0.125
2014 0.125| 025 0125 0.125] -0.625 0 o -025| 0.125 ol o025 0.125
20155 0.125| 025 -0875| 0.125] 0375 0 o -025| 1.125 ol o025 o0.125
s0i6%E 0.125| 025 o0.125| 0125 0375 0 ol 075 0.125 o o025 0.125
20174 0.125| -075| o0.125| -0.875| 0375 0 o 075 -0875 o 025 -0875
(é"i‘;;ﬁ) 0125/ 025 0125 0125 -0625 0 ol -025| 0.125 o] -075 0.125
(éﬂzﬁ;ﬁ) 0.125| 025/ 0.125 0.125| -0.625 0 ol 075 0.125 o -075| 0.125




